
 

 

Answer on Question #64499 – Math – Calculus 

Question 

1. Sketch the graph of the following condition: 
 f'(x)>0, f''(x)>0 , for x<h 
 f'(x)>0, f''(x)<0, for x>h 
 

Solution 
For example, 𝑓(𝑥) = √𝑥 − ℎ

3
. 

 

 
 
 

  

 

𝑓′(𝑥) = (√𝑥 − ℎ
3

)
′

=
1

3
(𝑥 − ℎ)−2/3 =

1

3 ∙ √(𝑥−ℎ)23 > 0 for 𝑥 < ℎ,  𝑥 > ℎ, 

𝑓′′(𝑥) = (
1

3
(𝑥 − ℎ)−2/3)

′
=

1

3
∙ (−

2

3
) (𝑥 − ℎ)−

5

3 = −
2

9 ∙ √(𝑥−ℎ)53 > 0 for 𝑥 < ℎ, 

𝑓′′(𝑥) = (
1

3
(𝑥 − ℎ)−2/3)

′
=

1

3
∙ (−

2

3
) (𝑥 − ℎ)−

5

3 = −
2

9 ∙ √(𝑥−ℎ)53 < 0 for 𝑥 > ℎ. 
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